Econ 102 Discussion Section 3 (Chapter 3.4 and 8.1)

February 6, 2015

Exercises from Chapter 3.4 (The Effects on Equilibrium from the Shifts of Demand and Supply)

1. What would happen to the equilibrium price and equilibrium quantity when the demand and/or supply

curves shift? Fill in the blanks of the following table.

No change to the Supply

Supply increases

Supply decreases

No change to the
Demand

P decreases
Q increases

P increases
Q decreases

Demand increases

P increases
Q increases

P ambiguous
Q increases

P increases
Q ambiguous

Demand decreases

P decreases
Q decreases

P decreases
Q ambiguous

P ambiguous
Q decreases

2. Suppose in the new market equilibrium, in which both demand and supply curves have been shifted, it is
found that both equilibrium price and equilibrium quantity increase. Which of the following can be inferred?
a. Demand increases at the higher magnitude than the increase in supply.
b. Demand increases at the less magnitude than the decrease in supply.
c. Demand decreases at the higher magnitude than the increase in supply.
d. Demand decreases at the higher magnitude than the decrease in supply.

Chapter 8 -- GDP: Definition and Calculations
Gross Domestic Product (GDP) is the market value of all goods and services produced within a country over

a given time period, typically a year.
- GDP is measured in market value, not quantities
- GDP includes on final goods, not intermediate goods
o A final good is purchased by the final user and is not used in the production of any other
good or service
o An intermediate good is used as an input for another good or service
- GDP only includes production in the current time period/year
Calculating GDP: The Price-Quantity Method
In this method we take the market value of all final goods and services produced in an economy and multiply
them by their market value. This formula can be represented by the following:

n
GDP = Z PiQi
i=1

Example 1: Suppose that in a year an economy produces 100 golf balls that sell for $3 each and 75 pizzas
that sell for $8 each. What is the GDP in this economy?
$900

Page 1




Econ 102 Discussion Section 3 (Chapter 3.4 and 8.1) February 6, 2015

Calculating GDP: The Expenditures Approach
In this method we calculate GDP by summing the expenditures on final goods and services in an economy.

The formula used here is:
Y=C+I1+G+NX
- C = Consumption Spending
- I =Investment Spending. Divided into three categories:
o Gross Private Domestic Investment: purchases of capital goods (goods used to produce
other goods
Residential Investment: purchases of new homes
Changes in business inventories = inventories in current year — inventories in previous
year
o Note: financial assets (such as stocks) are not included in GDP
- G = Government Purchases and Gross Investment. Only includes purchases of goods and
services by the government, and not transfers of wealth (i.e. social security)
- NX = Net Exports = Exports — Imports
Example 2: In 2011, consumption spending is $7000, government purchasing is $2,000, and investment
spending is $1,500. If GDP for 2011 is $10,300, then what are net exports in the economy?
NX = - 38200

Calculating GDP: The Value Added Approach
In this approach you add the value added by each good in the economy

Value Added = Price of final good — Price of intermediate goods

Example 3: Suppose that a pizza maker sells their product for $20. To do so a company uses $5 worth of
bread, $2 worth of cheese, $3 worth of sauce, and $3 worth of pepperoni. What is the value added of each
good?

Value added of Pizza = $7

Note: A good can serve as both a final good and an intermediate good at the same time when using this
method. For instance, bread could be the final product of flour and yeast, and also be an intermediate good in
the production of pizza. In this case you should do the value added calculation twice, and add the two
numbers together to determine GDP. However, when using other methods (i.e. price-quantity), only goods
not used in the production of other goods are considered final goods

IMPORTANT NOTE: These approaches should all yield the same value of GDP
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Practice Questions
1. Teddy’s Creations (located in Duluth, MN, USA) manufactures bathmats that they sell for $20 each on the
web. In 2013 Teddy’s Creations manufactured 1,000 of these bathmats and sold 600 of them. Teddy, the
owner of Teddy’s Creations during 2013 also purchased a number of items to use at home: he bought $400
worth of Italian shoes, $300 worth of California wine, and $250 worth of Wisconsin cheese. In 2014 Teddy
bought the same dollar value of Italian shoes, the same dollar value of California wine, but decreased his
purchases of Wisconsin cheese by $100. In 2014 Teddy’s Creations produced 1,000 bathmats and sold 1200
bathmats at a price of $20 per bathmat. Given this information, which of the following statements is true
about Teddy and Teddy’s Creations contribution to GDP?

a) The effect of these activities on GDP in 2013 is to increase GDP by $20,550 while the effect of

these activities on GDP in 2014 is an increase of $20,450.

b) The effect of these activities on GDP in 2013 is to increase GDP by $20,150 while the effect of

these activities on GDP in 2014 is an increase of $24,050.

c¢) The effect of these activities on GDP in 2013 is to increase GDP by $20,950 while the effect of

these activities on GDP in 2014 is an increase of $24,850.

d) The effect of these activities on GDP in 2013 is to increase GDP by $12,950 while the effect of

these activities on GDP in 2014 is an increase of $24,450.

e) The effect of these activities on GDP in 2013 is to increase GDP by $12, 950 while the

effect of these activities on GDP in 2014 is an increase of $24,850

2. Investment spending is spending on productive physical capital. According to the national
accounts system the construction of a new house

a) would be included as a part of investment spending.

b) would not be included as a part of investment spending.

3. If a used-car dealer purchases a used car for $4,000, restores it, and resells it for $4,800, the dealer contributes
a) Value added equal to $4,800, but nothing is added to GDP.
b) Value added equal to $4,800, but only $800 is added to GDP
¢) Nothing to production because only existing goods are involved.
d) Value added equal to $800, and consequently $800 is added to GDP.

4. Which of the following is counted in GDP?
a) The value of goods and services produced in the underground economy
b) The cost of a speedboat purchased at Bob's Boats used by drug smugglers
¢) The value of do-it-yourself work.
d) The value of leisure.

5. How are intermediate goods treated in the calculation of GDP?
a) Their value is counted separately, plus it is also included as part of the value of the final goods of which
they are an input
b) Their value is not counted separately, but their value is included as part of the value of the final goods of
which they are an input.
¢) They are included only in the year that they are produced
d) They are included only if they are imported
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6. Consider the following information for a certain economy in 2006 (in billions of $)
Self-employment Income = 800

Personal Consumption = 9,300

Indirect business taxes = 200

Gross private investment = 1,500

Government consumption and gross investment = 2,500

Net exports =—-500

Government transfer payments = 400

Depreciation = 1,500

According to the data above, gross domestic product is equal to which of the following?
a) $12,800 b) $12,500 c) $11,400 d) $10,500

7. Using the Value Added approach, what is the GDP of the economy illustrated below?
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Good Value of Good Used to produce
Cocoa $1 Chocolate Chips
Chocolate Chips $3 Banana Bread
Banana Bread $10 N/A

a) $7 b) $14 c) $10 d) §1

8. Which of the following would NOT be considered a final good

a) Pizza purchased for a business meeting

b) Cotton purchased by a company making blankets
¢) Cars purchased for a Chinese food delivery

d) A Playstation 4 purchased for personal use

9. A UW-Madison student purchases an anime DVD box set from Japan. How will that be counted in GDP?
a) Added in consumption; increase in GDP
b) Subtracted from net exports; decrease in GDP
¢) Added in consumption and subtracted from net exports; effect on GDP unknown
d) Added in consumption and subtracted from net exports; no change in GDP

10. What is the GDP of the economy shown below?

Good Value of Good Quantity of good produced
Apples $2 100
Bananas $1 60
Oranges $3 50
Grapes $2 200
a) $810 b) $8 c) $410 d) $600
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11. Which of the following would be included in investment spending?
a) Purchasing 100 shares of Apple stock
b) Placing $5000 into a mutual fund
¢) A reduction in Apple’s inventory of the iPhone 6 due to unexpectedly high sales
d) A purchase of a treasury bond

12.In 2014, Lenovo spends $20000 on a new wing to their San Francisco plant, $500 on a new copier and fax
machine, and purchases $25000 of Ford stock. At the beginning of the year they have $100000 in unsold inventory
and at the end of the year they have $80000 in unsold inventory. What was their investment spending for 2014?

a) $45,000 b) $45,500 c) $500 d) $25,000

13. Suppose you purchase a home in 2015 that was built in 2012. What is included in GDP?
a) The full value of the house and the value of the services provided by the real estate agent
b) Only the value of the services provided by the real estate agent
¢) The value of the home minus depreciation plus the value of the real estate agent’s services
d) Only the value of the house
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